SCALE 0.090

]

NOTE: ALL FASTENERS UTILIZE LOCK WASHERS

AND NUTS.

STRAP FASTENERS HAVE FLAT WASHERS ON BOTH
SIDES OF THE STRAP.

HORIZONTAL CROSS MEMBERS USE FLAT WASHERS
ON THE MEMBER SIDE ONLY.

BASE MEMBERS USE FLAT WASHERS ON THE INSIDE
OF THE 5" BASE ONLY.

PART # DESCRIPTION oTY MATL
| CROSS MEMBER 30" 3
2 CROSS MEMBER 34" 3 R
3 CROSS MEMBER 39" 3 _ x_wm:xmerqcmm
4 CROSS MEMBER 44" 3
5 CROSS MEMBER 49" 3
6 BASE RAIL 55" 3 e
T | VERTICAL SUPPORT 96" 3 | Bl
8 DIAGONAL STRAP 8 [/74 X | 1/4" STEEL
9 3/8-16 X | /2" BOLT |6
10 [/2-13 X 2" BOLT 30
|| 1/2-13 X | 1/2"" BOLT 12
|2 172" FLAT WASHER 42
I3 3/8" FLAT WASHER 8 STEEL
I 4 3/8" LOCK WASHER )
|5 [/2" LOCK WASHER 4?2
|6 3/8-16 HEX NUT ]
|7 [/2-13 HEX NUT 42
PART NAKE ASSEMBLY VIEW, MATERIAL RACK, BOM
cwsroun  ADVANCED INNOVATIONS s |NCH . "
Advanced EQ‘&QQH&‘ LLC PER TABLE
16238 RR 620 NORTH. SUITE F-221, AUSTIN, TEXAS 78717 MATERIAL
TOLERAMCE ANGLE SURFACE J. PIECZYNSKI 7-11-2020
cz::mzo__“.__ﬂa.:: TOLERANCE FINISH — ORMATION. DESIGNS AND w__.:as_.ma”%;:_; IN THIS DRAWING
X 020 8 FOMAL (O 1% No1 10-65 SWRED. UPLIEAED 0 TRIGNTITED
XX .010 +.50 32 10 OTHERS WITHOUT Th TTEN CONSENT O ADVANCED INKOVATIONS
XXX .005 PART 4
REV.




OPTIONAL FEATURE:

MATERIAL FROM ROLLING OFF THE SUPPORT.

|

.00

ADDITIONAL HOLES MAY BE DRILLED
IN THE TOP SURFACE OF THESE RAILS TO ACCEPT A BOLT.
THE BOLT WILL ACT AS A STOP TO RESTRICT ROUND

LENGTH "

—

49

44

39

34

30

wlw e |w e | —

SCALE

0.300

2X @ .50
THRU

L1 00

ALL HOLES TO BE SYMMETRICAL
ABOUT THE PART ¢

STOCK m>n? HORIZONTAL SUPPORTS

PART NANE
custons  ADVANCED INNOVATIONS T.__; |NCH o o
-
Advanced Innovations, LLC
16238 RR 620 NORTH, SUITE F-221, AuSTIN, TEXAS 78717 MATER AL

TOLERANCE
S s ( MGLE T SURFACE [\ J, PIECZYNSKI oy 7-112020

SPECIFIED THE [NFORMATON, DESIGNS AND DIMENSIONS CONTAINED IN THIS DRAWING

X 020 ARE THE PROPERTY OF JOE PIECZYNSKI AND ADVANCED INNOVATIONS LLC. | OTY

o THIS INFORMATION 1S NOT T0 BE SWARED. DUPLICATED OR TRANSMITTED
XX 010 +.50 32 10 OTHERS WITHOUT THE WAITTCN CONSENT OF AOVAMCED INNOVAT IONS
XXx 005
PART # REV




BROKEN VIEW FOR CLARITY '
55.00
¢
27.50 |
[, 75 —= A
\x} @ .50
/
N 7
/
A
5.00
e
00 .00
4.00
PART MAME STOCK RACK, BASE SUPPORT
cusiower ADVANCED INNOVATIONS ___.:; INCH - 4 -
Ld
Advanced NEE-SNEEM. LLC
16238 RR 620 NORTH, SUITE F-221. AUSTIN. TEXAS 781711 MATER 1AL

I ANGLE SURFACE J. PIECZYNSKI 11-2020

UNLESS OTHERWISE i Je DATE
SPECIFIED TOLERANCE FINISH THE (NFORMAT 1N, DESIGNS AND DINCNSIONS CONTATNED IN THIS DRANING w
o oy, RSEN R S e w | on
XX .010 +.50 32 10 OTHERS WITHOUT THE WRITTEN CONSENT OF ADVANCED INNOVATIONS
XXX .005 PART #

REY




84.00

[2.00
4 B .375 15
.00
‘W‘_.mT_wo 14X @ .500 | 00 —
° o o o ol
° o ° o o
4.00
[.00 .
4.00 .
24,00 ——————=
- 42.00
59.00 e
- 716.00 =
91.00
~ 96.00
BT e STOCK RACK, VERTICAL MEMBER
SCALE 0.150 custone s ADVANCED INNOVATIONS anirs  FNCH it -
. o v
Advanced Innovations, LLC
16238 RR 620 NORTH, SUITE F-221, AUSTIN, Nm;m 787117 MATER | AL
o oTMER ANGLE SURFACE J. PIECZYNSKI 7-11-2020 2
UNLESS OTHERWISE ENG . DATE
HSPECIFIED TOLERANCE FINISH THE INFORMATON, DESIGNS AND DIMENSIONS CONTAINED IN THIS DRAWING 5
ARE THE PROPERTY OF JOE PIECZYNSK! AND ADVANCED INNOVATIONS LLC ary
X 020 R THIS INFORMATION 1S NOT TO BE SHARED, DUPLICATED OR TRANSMITTED
XX 010 +.50 32 T0 OTHERS WITHOUT THE WRITTEN CONSENT OF ADVANCED |NNOVAT|ONS
XXX . 005 PART 4
REV.




25

L -
25— fo

92.00

46.00

VL @ .38 THRU

/
/

10
T STOCK RACK, DIAGONAL CROSS MEMBERS
cusiours ADVANCED INNOVATIONS wirs | NCH — 72
LJ
Advanced Innovations, LLC
16238 RR 620 NORTH, SUITE F-221, AUSTIN \m;m 187117 MATERIAL

L L ; owwwwmﬂ wﬂc_mzﬁ_mnxm ixg: J. PIECZYNSKI oare - 7/11/2020 8

SPECIFIED TUE [NFORMATION, DESIGHS AND DIMENSIONS CONTAINED IN THIS DRMNING | oo

X 020 ARE THE PROPERTY OF JOE PIECZYNSKI AND ADVANCED |NNOVATIONS LLC

XX 010 u_.n - mo_u wm THIS INFORMATION 1§ NOT S—mm SHARED, DUPLICATED OR TRANSMITTED

XXX 005 PART 4 -




